2019 £ BAFHE 2R RN

- iRy A HKHESE (=) F % 1080009158B

~F g RAREA T B R

AR EE KT R Y EARRFIRE ¢

RN &3 BT .

CEEE R P ERE KT ARG AN TR SR DRE R FA

A FP RN
(- ) AdEFE 22019 # 81 10 P (M}H)

. % F ¢ FLe 12013 & 9 8 1M7
L BRI A TIe 12012 # 9% 1 p &z
LB M ESE 12010#F 9% 1 p &z
LB B 12008 F 9% 1Pz
BB EBE I2006EF 97 1P 2

6. "R R -5 afF2
7. Be A ERKRAEES
(=) ABBEF 201981 11p (£¥p)
S oBREN2 TRENS 2 RENL BB D RKENG AR EN
7. —fﬂf Bl (1-3%) ~8 &ixple (4-9%) ~9 &7 & (10-15 %)
10. &= A e (16-20 %) ~11. L= e ~ 12, 4 Bitdi e
= N IRDIPER

(=) A& 201987 108 (&H¥=) 1132 20~504% 3]

(=) ABpBF 201987 11p (E#HP) 822050477

PN LL%%%@.: FADAZTHY BELEHI S (AN AT RALTRS

L SRFFRAPMMTRARSEFIEVERLLRE P RBEEAR ] (F) T RE S

de s 4 B AR % SO (E ) T F Fde o

Iy

I

%)

\ \
N =
T G G G O

\,

Tt T T T
R e N T

\,

H

T4 LATE T R A 0 58 LT M R
Fle 82 2RALBREE LG R 2EFHFFIRL - R
ﬁ’%E - F‘Iﬂ?”ﬁ?ﬁﬁﬁ@ N ﬁfﬁ"g"‘nﬁ’}} %EJ‘F%HW .

i
(Z) plafigdT

e ) ¥- % 7 = ¢ EO
PRV & 6,000 ~ 3,000 =~ 2,000 ~ 1,000 =
RIS & 6,000 = 3,000 ~ 2,000 ~ 1,000 =
20,000 = 8,000 = 4,000 ~ 2,000 =

i ) $I~%A 1% $4~%L2

1,000 = 500 ~

IR 6,000 =~ 3,000 ~ 2,000 = 1,000 =




T B 3,000 ~ 2,000 ~ 1,500 ~ 1,000 ~
R A 3,000 ~ 2,000 ~ 1,500 ~ 1,000 ~
g a2l 3,000 ~ 2,000 ~ 1,500 ~ 1,000 ~
Ao BB 3,000 ~ 2,000 ~ 1,500 ~ 1,000 ~
Hi 1,000 ~ 1,000 ~ 1,000 ~ 1,000 ~
Bimp T AE 500 ~ 500 ~ 500 ~ 500 ~
4—\$?%?=ﬁﬂf%i?iﬁéﬁ—ﬂéo
(—)A\ﬁ% LEAR LR ATS 400 & oo
(_ ) A &ﬁ"% B dR L FATS N 500 & 5 Bt dR LR AT SR 400 & o
CHR LS - BRRRFL LTS TA MY ;gﬁﬁth
http://tpego.hyplaygo.com/TPEGo/
L2 FR LR PH TP AT 108F T8 21 p(EEHP)LE o
S RFELD A oo E L FEeE T o
LT oaEp sk FREEE P o 03-9871000 4 5 12631 k-] 48
<2 /¢ 02-27557131 ~ % 118 3R (532 o
L2 VIR EE
(=) §i§?ﬁ%%§i¢2<§4ﬂﬂﬁh BRE&F- o
(=) EFLJIREF P2t a i g FE) SFFTR -
(2) AERWEFOPRLE LY 5o
() * @RS F2FEHRS (e mn] > S0d3 TRE-
(I #z'il—'—w—‘f-l%(-%"—ﬁﬁﬁr.fl?;ﬂﬂﬂq)vT 3—1—%94%,@#&\ F‘_‘?”'1;C°
(#) “HFFAFEL2 REPRESERBAR > £ AFRA -
(=) ﬂ%%5§7%’p”%$%%§iW¥ﬁ@iﬁﬁﬁﬁ°
(M) AgTv@EpHm, 2BY BEBANBI 2 Hd < § 36 -



http://tpego.hyplaygo.com/TPEGo/

